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#include <stdio.h>
int main(void)
{
int i,
sum=D;
for(i=1;i<=@
sum=@+i;

sum;

; i++){

}
printf("1 5 10 £ETDH %d¥n",sum);
return 0;

}

@ [0 ] @[ 10 1 ® sum ]
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#include <stdio.h>

int main(void)

{
int i, n;
n=;
for(i=1;i<=8;i++){

n=n*@;
printf("2 @ %d FEIlE %d ¥n",i,®);

}
return O;

}

20D 1 %3 2

20D 2 E(3 4

20 3 L 8

20 4 F#L 16

20 5 FE 32

20 6 FEL 64

20 7 FEE 128

20 8 L 256

o[ 1 1@ 2 16 n ]
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DTHS. |#include <stdio.h>
int main(void)

int a, n:

printf ("EHEAANT) .
scanf( wd”, @ )
a=n% @
ifa== @ ) {
printf ("%dIX{BE¥n”. n):

elsef
printf ("%dIXZFE¥n". n).

return 0O;

@ [& 1 @[ 2 1@ 0 1

BRES JROBRICERETL,
if XDOFPDZHDHMERETFEES I\,
iflta == b)) ; a & b [FEELLWES

iftCa I= b)) ; a &b [FEERNES

BRE 3 ROTOISL%E. EfIULEOBREEZ/EIN.

#include <stdio.h>
int main(void)

{
int a, b, c;
a=2_§;
b =5;
c=a; /18
a=b; /15
b =c; /18 a=
c=a+b+c; //5+8+8=21
printf("a = %d¥n",a ); -8
printf("b = %d¥n",b ); B
printf("c = %d¥n",c );
return 0; c=21

}

RBEE 6 JO7OsSALERDLE a JFE b \BS h AL ZFOHERE
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#include <stdio.n>
int main(void)

floata, b, h, s;
printf("_LJEK a ZA7");
scanf("%f",&a);

printf(" T /& b Z A",
snnf(“%f' &b);
printf"&S h ZA10");
snnf(“%f' &h);

=@ ;
) C'ﬁf*(i%ﬁn" @),

retum O

}

® [ (a+b)*h/2.0 ]
@ [ printf ] G s ]
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#include <stdio.h>
int main(void)

int i, n, kwa, gwa, wa.

kwa = 0;

gwa = 0,

printf (" n =>");

scanf (“%d”, &n);

for (i=1; i<=n: i=i+2 ) {
@ =kwa + i ;

@ = kwa + gwa ;
printf "FHFHEOI=%¥n BEOFI=%d¥n", kwa, gwa, wa).

return 0;

@ ANS.[ kwa ]

@

ANS[ gwa ]

®ANS.[ wa ]

fRE 8 ROTVISAL IEOEZER n AL, for SEAFE>T n OfEE%
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#include <stdio.h>
int main(void)

int n, kai, 1.

kai = 1.
printf "FERT 5% n =),
1D ("%d”, &n) ;

BRE 9 ROTOSSLERTLE, DOEEZL

#include <stdio.h>
int main(void)

Int i,

num;
printf" B A EA DL TILEW");
scanf("%d",&num);
printf("%d O E(E¥n",num," ");

for(inti= @ ; i<=num; i++){

if(num%i @ 0){
printf("%d¥n", @ )

;;)rintf("'C*'é'o ¥n");

for (i=2; i<=@; i++) |
| kai = kai * 3 .
printf ("%d! = %d¥n”, n, kai ).
return 0;
}
@ ANS.[ scanf
@ ANSI[ n

® ANS.[

return O;
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#include <stdio.n>
int main(void)
{

int k m, total

total=;

@(k=1; k<=4; k++Y

printf("#E4E A n=>";
scanf("%d", &m);
ift m>0 X
total= @ + m;
}

}

printf("&&1T=>%d¥n" total)

retum O;
}
BHEAS n=>1 @ 0 )
BEHEAN n=>2
BEHEAS n=>3 @ ( for )
BHEAS n=>4
Ai=>10

= @ (total )
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#include <stdio.h>
int main(void)

inti;
for (i = 0; i <=10 ; i=i+2){
printf("i D& %d¥n",i);

}
printf("for XZ&IRIT /=14 D | DIE%¥N");
return O;
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